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Homework Answers
pg 356 - 358: %‘;’f\
4.{3,-1),(5,2),(5,-3),(0,2) oy
56. Fi(x)= -x+7 78 & 80 see graph G}, o %Q))),
59. £(x)= (4 - 7x)/x 92. £7(x) = (-x - 3)/x ey, ~ &
Zp s
0 D {xlx 2 -7) fx): O Y:x D \%g;
R: {yly# 0} R {yly 0] . G
£(x): D {x|x # 0} £1(x): D: {x|x 0} OM IT
R: {ylyz-7} R {ylyz-1}
61. f'(x) = (3x+4)/(x-1) 96. fi(x)=(2x+1)/(1-x) 44! 48 & 60 from
H ]
w0 b e 3 s bt Xl 2-2) tonight's HW
R fyly 1} Rifyly#1)
i (x): D {xIxz 1) f1(x) D: {x|xz1}
R: {yly# 3} R lyly=-2)
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Warm-Up: Find the inverse algebraically,

y= i':'l 9= 3"':
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List the transformation(s) needed to transform h(x) = 2% into the graph of the given . - .
funetion: =2¥ P% 357 . (0& P% 370 371
1 (=25 " 2 #0=2ds find +he inverse 4. £(x)=37> grr:;e\h&%er
doen Souts O fx)= 2x=2 2. y= 2% wf+ables
ItEL down § 2%+ )
27-32 State Tmnsforma)hozni{rom
3. f()=<2 4 fx)-2-4 27. £(x)=2% F)=
k&g vel “'“’*‘j downt s £9= 2><-l
) P £(x)=2%3
.) ’ = X
5 (3 ol 30. £(X)= 2% +1
us3 8l from £()=3%:£0)= 4-37%

32.fx)=2%'-3

6. Write the f(x) which is h(x) translated up 2 and left 3.
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